ITI Surveyor 1st Year Module 9 Road Project

(1). What should be provided to avoid monotony in road alignment? | HS&

TG T Thydl ¥ &9 & ot =1 ga™ fodn S gy
(A) lengthy straight roads | sl el T8

(B) Slight bend | YUTSTEehH1

(C) Parallel routes | THMIAR ATY

(D) Reverse Curves | Rad g

Correct Answer : B

(2). What accordingly classified the roads s as class I, II, 11I? | dgJdR Hsob\l'ﬁ

ot 1, 1, 1 % U H Fiffepd fpar g
(A) Importance | Hetd

(B) Traffic | T

(C) Tonnage | T YR

(D) Location | QB

Correct Answer : A

(3). When the soil is weak the height of embankment usually provided is? | S

T HHSIR Bt & o) dCaY P S aTg IR TR UG &1 oIl 82

(A) 0.2M

(B) 0.3 M
(C) 0.5M
(D) 0.6 M



Correct Answer : D

(4). Which survey the longitudinal and cross sections are taken and benchmark is

established? | ﬁ‘f@ﬁ&‘m &Iﬂ%ﬂf aﬁvw”m@amqﬁ«maﬁ% 3R d9HTH
RO forar STaT g2

(A) Maps study | TR BT 31TIT

(B) Reconnaissance survey IWT\‘:IH&&‘I'UT
(C) Preliminary survey | URIYE e

(D) Final survey | 3ifaq gder

Correct Answer : C

(5). What is the basic object in road alignment? | TS TG0 H Tl a¥g T 62

(A) It should not provide good straight distance | 3@ &@ﬁﬁ%ﬁg{ﬁmﬂﬁ
B! Y

(B) It should provide smooth curve and easy gradient | ZI%'%IWTW 3R 3
ANEHEESSIEIRY

(C) Cross the rivers, canal at place when its width is maximum | Sid ‘i{-lcbnl t?ls_lsr

3fHaH g1, ad A, g B UR B

(D) To provide difficult curves | Hid- gdH Hal B %%I'Q

Correct Answer : B

(6). Which year the Nagpur plan conference was held? | maﬁfﬁwaﬁw
e SATfoTd fobam T ot

(A) 1941
(B) 1942



(C) 1943
(D) 1947

Correct Answer : B

(7). Nagpur plan classified the roads based on -------- | ARTYR IS &b YR TR
qS P BT TBIT —ememememeev

(A) Traffic | IdTUTd

(B) Location | ATh
(C) Importance | Hotd
(D) Tonnage | €4 HIR

Correct Answer : B

(8). Where the road crosses the river, canal or streams during its alignment? |

e TS 31U TG & GR A4l 78X T Afedl ®I UR &l 62
(A) At maximum width | 3B dH TS W

(B) At minimum width | <gATH S8 TR

(C) At maximum depth | 3IfIHTH TERTS TR

(D) At minimum depth | HH Y HH TS W

Correct Answer : B

(9). What is the minimum width of N.H? | NH ﬁWﬂﬁ@gW%?
(A) 2M
(B) 4M
(C) 6 M



(D) 8M

Correct Answer : D

(10). What is the rate of rise or falls along the length of the road with respect to
the horizontal length? | &faST daTs & Ty & TS B ddTs dg- a1 fRA Bl e
e

(A) Road way | WII'ITT

(B) Gradient | ‘;IT%'Q_C’

(C) Level difference | ¥R BT 3R
(D) Contour interval IWGFRWT

Correct Answer : B

(11). Which road connects major ports, capitals of state, foreign highways etc? |
P Ul TSH W S&Tel, Xod ! ot facf o efe &1 Sirgdt
g?

(A) National highway | ?T@qfﬂ_sia
(B) State highway | @_C'Eﬂga
(C) District road | %IETW
(D) Urban road | %ﬁm

Correct Answer : A

(12). Which road connect important cities and towns in a state with national

highway? | I T TSb T & AUl TeRT SR Bl D AP AT §
Siedl

(A) Major district road | Wﬁrﬁﬂm




(B) Other district road | 3= fSTeTl IS b
(C) State highway | &< B34
(D) Village road | ﬂ‘ﬁﬁm

Correct Answer : C

(13). How road crosses the railway lines, the bridge and other roads during its

alignment? | 8 S Yo1d AT, T 3R 30 TS| b 3T TRIU P SR
UR &l 87

(A) Atright angles | JHBIU R

(B) At acute angles | NI DIUTR

(C) Atobtuse angles | 3T HIUT TR
(D) At any direction | Wlﬁmﬂﬁ

Correct Answer : A

(14). Which road carries 251-600 vehicles per day? | I Y geoh Ufd fad 251-

600 AT B1 o SICi &

(A) Very heavy traffic | dfgd YR} grarard
(B) Heavy traffic | YR} ardrard

(C) Medium traffic | H&EH JId™Td

(D) Light traffic | el JIdId

Correct Answer : B

(15). Which type of routes reduces the speed of the traffic and increases

accident? | fH¥ UBHR & AN T TraraTd &1 71fd &4 8) o1l § 3R gHe 9¢
St 8



(A) Straight routes | 18 AN

(B) Easy zig-zag | ST fSTT-81T
(C) Uneasy zig-zag | 3RIGST foRT-WATT
(D) Curves | I

Correct Answer : C

(16). Which road carries 70-250 vehicles per day? | GI’?I"I B NEEY tl?lilﬁf]%_"f 70-

250 AT 9d &

(A) Very heavy traffic | dgd HRI IrdrTd
(B) Heavy traffic | YR} ardrard

(C) Medium traffic | H&EH Id™Td

(D) Light traffic | el JIdId

Correct Answer : C

(17). Which plan recommends classification of road according to location? | ﬁ:[

Gt S RIF & IR TS & JH B0 D1 RIGIND Hcl §
(A) Lucknow | ¢T3
(B) Bangalore | AR

(C) Nagpur | dNTYR
(D) Jayakar committee | SHR giAfd

Correct Answer : C



(18). Which instrument is used for ground reconnaissance during the road

alignment? | IS Qﬂls'-lﬁl'ci %WWW%WWWW
SUTNT fhaT ST /2

(A) Pedo meter | sl Hiex

(B) Auto level | ddTferd TR

(C) Digital theodolite | fSfored RATsIATge
(D) Total station | W@TZF[

Correct Answer : A

(19). What is IRC? | IRC T &2

(A) Indian Road Congress

(B) Indian Railway Communication
(C) International Road Congress
(D) Indian Road Corporation

Correct Answer : A

(20). Which is the process of laying out central line of the highway on the ground?

| ST STHI TR ITHT 1 Her A8 fos™ ot ufhar g
(A) Road alignment | {-Isd?W&IQ“IIs"H:I'C

(B) Reconnaissance survey Imﬂa&m

(C) Road way | Wrﬂﬁ

(D) Preliminary survey | URYP Tdeur

Correct Answer : A



(21). Which of the following is included in the road project survey? | mﬁ

U P geH uRareT gaem Rad # wnfiya 8
(A) Gradient | UTfSUe

(B) Location | &I

(C) Slope | T

(D) National highway | TS gT8d

Correct Answer : B

(22). What is road way width as per IRC for major district road? | YHd foTeTT Joh

% foTT SMSIRCIITRAT & IR YS& AN Bi ASTs T 8
(A) 12 M

(B) 10 M

(C) 8 M

(D) 7.5M

Correct Answer : B

(23). Which type of survey is used for the location of the road involved stake out
the final central line by continuous transit survey and detailed leveling? | fg

THR & HA&0T BT ITANT FRER URITHA Fa&0T 3R fagd arafer gy sifad
HET W Y WP T3¢ aTelt Tedb & I & o8 foar Srar g2

(A) Maps study | TR BT 3T

(B) Reconnaissance survey IWT\‘:IH&&I'UT
(C) Preliminary survey | URYP Tdefur

(D) Final survey | 3ifa\ Tdefor

Correct Answer : D




(24). Which of the following roads construction and maintenance rest with the

central government? | FHGfIREd & ¥ ®IF @ T AT 3R WarR@d Fg
WHR & U 8

(A) District road | ﬁﬂ?ﬂm

(B) Village road | ﬂ‘ﬁﬁm
(C) National highway | ﬂ@t{%ﬁ%
(D) State highway | &< 8154

Correct Answer : C

(25). Which formula used for calculate more accurately the quantity of earth work
in embankment and cutting? | dCdY 3R Obdl‘érff aﬁa&ﬁwﬁaﬁm
oA & o fafy 1 o forar o @

(A) Average depth method | @W%Wﬁﬁlg

(B) Average cross sectional area method | qaw H1g YR Qﬁ'{ﬂﬁﬂg
(C) Prismoidal | ftl@flg@?f

(D) Mid area method | ﬁl@rmﬁ?ﬁ{

Correct Answer : C




